TASm]

drei Dezimalstellen, Reihenfolge der Operationen
mit Klammern

Name:
(37,8 —40,8)+ 6 =
(46,9 — 18,9)+ 7 =
(27,5 +24)+5 =
(3,4-2,8)x 4,6=
(7,6 +12,2)+ 2 =

Datum: Ergebnis:

(6,8+3)x5,9=

6,13,5—-4,7) =

(52,8 —44)+ 8 =

6,7(5,4 +5) =

3,4(4,6+6) =
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Swdm]

drei Dezimalstellen, Reihenfolge der Operationen
mit Klammern

Name:

(37,8 —40,8)~ 6 =—0.5

(46,9 —-18,9)+7=4

(27,5+24)+5=103

(3,4 -2,8)x 4,6=2.76

(7,6 +12,2)+2=99

Datum: Ergebnis:

(6,8+3)x5,9=757.82

6,13,5-4,7) =732

(52,8 —44)+8 = 1.1

6,7(5,4 +5) = 69.68

3,4(4,6 + 6) = 36.04
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